Radical Practice Solutions

1. ¥=27=3 17. {f16x*y° =3/8x°y" - 257y

2. 4l6=2 =By
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3. +/—81 is not areal number.

18. \/8x4y7 = \/4x4y6 2y
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4. 83 =48"=2"=16 = J4x'y* 2y =2x°y* 2y
5. N(=37) =|-37|=37 19. /5 ++/11 is already simplified.

20. VI8 ++4/8 =4/9-2 +4/4.2 =32 + 242 =52
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6. 16 =416 =2° =8

7. 27§:3\/EZZ9 21. V63 =418 =+/9-2 =9 .2 =342
8. 64 =4 22. V55 = 43) =25 =15 =515
o @:\/§=@=7 23, (3—J§X3+J§)=32—ﬁ2=9—3=6
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10. V75 =/25-3 =425 43 =53 3B A3
11. ¥/81=427-3=327 -3 =33 s 1 _ 1 _ 7 BB
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12. V48 =/16-3 =4/16 -3 =44/3
+42
13, V25 =05 =5 .5 = 35 2. 3—5ﬁ:(3—5ﬁ)'g+f3
14. 324 =3/8-3 =38 .33 =243 :5(39+\2/§):15+75\/5

15. Va4 =411 =4 11 = 2411
16. 7200 =4/100-2 =/100 -2 =102




